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Who among the following was a famous
Jain poet from Haryana 2 -
(A) Pushpadant  (B) Chamm}gu\ﬂt
(C) Nagarjuna (D) None of these

Market segmentation success criteria
consists of

(A) Measurability

(B) Accessibility

(C) Market Responsiveness

(D) All of these

Which city of Harvana has the highest

population as per Census 2011 and 2020
projection ?

(A) Gurgaon

(B) Ambala
(C) Panipat

(D) Faridabad 0
Centre for Marine Living Resowrees and
Ecology is located at

(A) Mangaluru, Karnataka

(B) Panaji. Goa

(C) Kochi. Kerala

(D) None of the above

The Consumer Disputes Redressal
District Forum's member shall have

jurisdiction tenure of °

- . 1 1 V
vears with the age limit of 65 vears.

() Six (B) Four

{C) Three (D) Five

In Harj_vtana eXistence ofmangogm‘&,s
attests its name tq which of the ate
city 2 R O the ollowing
(A) Ambala B Karny]
(C) Panipat (D) Bhiwgp;

- {C) gy

1/2020 (36)

- -~

1. FH-3 T w1 ged ek &9 4 AT F
T3?
(A) FF (B) E&1HA
(©) Fm| (D) ST & 1 79
9. Trefafed ¥ Q H-a1 SN F1 G ¥Hg
(A) TEd (B) 'énﬂn:nq i
(C) AT (D) 37 € =8 T2
3. S9N G0 S%edl A B
H
(A) HTdEE
(B) T
(C) TSR Siatsdt
(D)3 T
4:02011 SFTUMT 3R 2020 TERET F 3TEH
(&) TSTE (B) wTeaTen
(C) TrTw (D) e
TfREe
(A) AEE, FATTH
(B) 9UrH, M
(C) T, F
(D) 3T 1§ = T
| — T e s a5 i oy
S g B 2
A 8 | (B) T
(C)_‘ﬁq (D) Oig
7

mmayrémﬁn%f@aﬁ%mm%
%,QWEmamm?{zgé%%..

(B), T

(D) Rt

Scanned with CamScanner



;
5.
y

10.

11.

14.

www.Haryanadobs.in

"o 3

The language processor that translates
the complete source program as a \\'h(ﬂ?
in one go into machine code is ealled

; Al 3

(\) Compilet (B)Y Assembler

() Convertor (D) Interpreter

Characteristics of management
information svstem consist of

(:\) Integrated system

(B) Commion data flow

(C) Management directed

(D) All of these

If in a certain code, GIVE is coded 7315
and BAT is coded as 924, How is GATE
coded ?
() 7245
(C) 2547

(B) 1452
(D) 5427

The process of splitting up of white light
into its constituent colors is knownas
(B) Reflection

(D) Biffraction

(A) Refraction
(C) Dispersion

Which is the science dealing with living
things and their environment ?

(A) Economic Environment -

(B) Social and Cultural Environment
(C) Ecology (Nature)

(D) Technology

Gurugram district of Haryana derived its
name from the name 0

(A) Yogananda (B Gurumayl

(C) Muktananda - , (D) Dronachm'ya“

The D!‘(X‘l‘ﬂscf '&épositix’tg a layer of any

! _d,?ﬁ‘?‘?d. metal on another material by
~'means of electricity is called as

* (A) Electroplating  (B) Electrocutting

() Elec t'rif}'i_ng

( ) méf-:tmplanﬁng
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of times

es the number e8
- d by 1ts

Which ratio indicat _ i
¢ 18 covere

the earning per shar
market price ?

(A) Price Earning Ratio

(B) Gross Profit Ratio

((") Barnings Per Share

(1)) Net Profit Ratio

Which State lics to the South-West of
Haryana ?

(A) Gujarat
(C) Rajasthan
Crocodile Breeding Centre is situated in
_district of Haryana.

(B) Bhiwani

(D) Panchkula

(B) Punjab
(D) Uttar Pradesh

(A) Kurukshetra
(C) Hisar

The attitudes and behaviour of the rural
consumers consists

(A) Traditional occupation

(B) IFamily values

(C) Festivals and Functions

(D) All of these

The contains a program that
runs when you first start the computer.
(A) File Allocation Table (FAT)

(B) Root folder

(C) Boot sector

(D) Data area

The milk is heated to about 70°C for
15 to 30 seconds and then suddenly chilled

and stored. By doing so, it prevents the
growth of microbes. Identify this process
discovered by Louis Pasteur.

(A\) Pasterification

(B) Pasteurization

(C) Pasteurity

(D) Pasteur therapy

Which warehouse is a repository (or
archive) of information gathered from
wide multiple sources, stored under a
unified scheme, at a single site ?

(A) Model (B) Digital

(C) Data (D) None of these
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How many districts
in Ha
solar p(nl\s at present ? ryana have

(4) 21 (B) 19
(©) 18 (D) 20

Mr. P and Mr. Q are friends. What is
the probability that both have the same
birthday (ignoring a leap year) ?

2 1
® 365 ®) 365
©) 1 (D) 0

Rural Marketing Strategies consists of
(A) Product

(B) Pricing

(C) Place (Distribution)

(D) All of these

Gurgaon district of Haryana was formed
in the year
(A) 1966
(C) 1995

(B) 1979
(D) 1913

In a certain code ‘JODHPUR’ is written
as ‘RUJODHP and ‘LATUR’is written as
‘RULAT’. How is ‘CANDIDATE' written
in the code ?

(A) ETCANDIDA

(C) CANDIETAD

(B) ETADIDNAC
(D) TECANDIDA

Oral communication consists of

(A) Face-to-face conversation

(B) Conversation over the telephone
(C) Radio broadcasts

(D) All of these

Three inscriptions of Ruler Vigraharaja— -V
s mentioned in which Pillar ?

(A) Pillar of Pallava

(B) Pillar of Vijayanagara
(C) Pillar of Topra

(D) Pillar of Hoysala
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The mirrors used by dentists to se€ large
images of the teeth of patients 18

(A) Convex (B) Concave
(C) Plane (D) Spherical

Which database model maintains records |

(entities) in groups of tree structures
called forests ?
(A) Hierarchical
(C) Network

(B) Relational
(D) None of these

When the system restarts or when reset
button is pressed, we callit as

booting.
(A) Freeze (B) Cold
(C) Warm (D) Hot

When solid NH Cl is added to NH ,OH
solution, the equilibrium

(A) Shifts to the left
(B) Shifts to the right
(C) Remains constant
(D) None of these

In accounting, under which concept a
record is made of only those transactions
or events which can be measured and
expressed in terms of money ?

(A) Cost concept

(B) Dual aspect concept

(C) Money measurement concept

(D) Accounting period concept

The selling price of 8 mangoes is equal
to the cost price of 12 mangoes. Find the
profit/loss percentage.

(&) 50%. . - (B)55%
(®) 40%' 53 (D) None of these

Phenols on dmnllatxon w1th zinc dust,
yleld :
(A) Benzene (B) Chloro benzene

(D) Resorcinol
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Which statement depictip,
position from one perigg
(A) Funds Flow
(C) Work Flow

g change in cash
to another ?

(D) None of these

Haryana Govt. had set-up a “Centre of

Excellence for Vegetable”, in collaboration

with Israel at

(A) Gharaunda (B) Kaithal
(C) Jind (D) Sonipat

The Russian President who introduced
Economic and Political Reform called
“Perestroika”

(A) Brezhnev

(B) Mikhail Gorbachev

(C) Stalin

(D) Lenin

The First Annual General Meeting must
be held within months of
incorporation of the company.

(A) 15 (B) 12
(C) 18 (D) 16

The first battle of Panipat happened in
the year

(A) 1532 (B) 1529

(C) 1536 (D) 1526

Japan's first Railway line was built
between

(A) Tokyo and Osaka

(C) Tokyo and Fukuoka |
(D) Tokyo and Yokohama o

Which standards lax down umform
accounting pohmes and practlces which are
to be follow'!"d by aH busmess enterpmses

(B‘) Accountm&'

(D) All of thes&
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‘Purna Swaraj’ was set as Congress g‘f”l
at the Lahore Congress Session held in
&
(A) 1932
(C) 1928

(B) 1929
(D) 1930

Which Sufi Saint of Haryana established
Kalandaria order ?

(A) Fariduddin Shakarganji

(B) Sheikh-al-Islam

(C) Suleman Aujodhani

(D) Boo Ali Shah Kalandar

Which costing is a system under which
the cost of the product is determined
in advance on certain pre-determined
standards ?

(A) Marginal

(C) Standard

(B) Job
(D) Uniform

Who is an agent who does not have direct
physical possession of goods in which he
deals but he represents either the buyer
or the seller in negotiating purchases.or
sales for his principals?

(A) Broker

(B) Commission agent

(C) Sole agency

(D) None of these

So far, times President rule
was imposed in Haryana.

(A) Two (B) Three

(C) Four (D) One

Which is paid form of non-personal
presentation and promotion of ideas, goods
or services by an identified sponsor ?

(A) Advertising

(B) Sales promotion

(C) Personal selling

(D) Publicity

Where is the Ancient Gumbad monument
situated in Haryana ?

(A) Bhiwani (B) Mewat

(C) Palwal (D) Kaithal

WW.HaryanadJobs.in
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54.

55.

lx‘f\élND - 2019 a Joint Military I3

will be }1eld between which ol“ e !m} Colge
countries ? the following
(A) India and Mangolia
(B) India and Canada

(C) India and Kazakhstan
(D) None of the above

50.

Every company having a share capital
¢ apita },}:

;s required to file with the Registrar
the date of holding the Annual éier]g(?l?({

an annual return within

Meeting.
(4) 80 (B) 80
(© 120 (D) 60

In the series 7,10, 8,119, 12,...What | 52

number should come next ?
A) 7 (B) 12
(C) 10 (D) 13

[n Haryana the spread and pr i
. ¢ propagation of | 53.
Buddhism during Ashokan Administration

gets confirmed by the
(A) Stupa of Sanchi
(B) Kurukshetra Edict
(C) Topra Edict

(D) None of the above

Cyber crime consists of
A) Hacking

(B) Cracking

(C) Security relate
(D) All of these

Who lead the 1857 revol
Haryana ?

(A) Hassap Ali Khan

(B) Risaldar Bisarat Khan
©) Nawab Abdur Rahman
») Raja Nahar Singh

The Independent Labour Pa

was founded bY *
(A) Dr. Satyapal

B Vallababhai Patel
) d a\vahaﬂal‘ Nehru

(D) Dr. B. R. Ambedkar.

d crimes

t in Rohtak of

rty in India Ve

-9-
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55.
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Which of the following statements are
rrne about Vikalp Scheme of Indian
Ravlways
A, This scheme will now provide
confivmed berths to wait listed
passengers inan alternate frain.
‘nder the Vikalp Scheme, the
oarding and the fermination
stations might change to nearby
statons,
L) Oaly (D) s true
() Both () and () ave true
() Both (a) and (b) are false
(M Only (&) 18 true

X
bl

W
N

\\ an h among the tolln\\mn things ~\bout
local bodies first happened in Haryana 7

\) Formation of Panchayati Raj

B EVAILs used for Panchayat elections

() Fix educational qualifications for
Panchayat members

(O Women reservation intPanchayat

Under decision support system, which of

the following statement is correct ?

(AA) Inability to support the solution of
complex problems

(B)

Fast response 1o unexpected

situations that result in changed

mputs ‘

() It may be construeted to
unsupported one nme decisions

(D) Nene of the above

Which

belong to.

he milm\ mg districts
Xn‘b.ﬂ a: \Lummﬂtmhve Dvision
m Harvana ? i ‘

among t

(B) Sompat
.":I,D‘ de :

jo2 }
~J

(51§
o2
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64,

66.

68.

[n 1964, ; .
— revolutionized
ertrONic T nized th
electronic m«%u:u.\, and started the thi Cl
generation of computers I

(A) Microprocessor
(B) Transistors

(C) Vacuum tubes

(D) Integrated circuits

Which is a sheet containing the balances
of all real and personal accounts ? .
(A) Balance Sheet (B) Cost Sheet

(C) Income Sheet (D) None of these
This Gurudwara of Haryana was built in
the memory of Guru Gobind Singh is
(A) Gurdwara Rajghat

(B) Gurdwara Panjokhra Sahib

(C) Topivon Wala Gurudwara

(D) Gurdwara Patshahi

The wickets taken byabowlerin & continuous
cricket matches are as follows.

Find the mode of the above data.

(A) 4 (B) 6
(C) 5 D) 2

The environmental factors affecting rural
marketing consists 0

(A) Rural Income

(B) Scattered Markets

(C) Literacy Level

(D) All of these

the total area under wastelands

inHarvana,
of total

is estimated to be about
Geographical Area.

@A) 3.6% (B) 11%
() 15% D) '
Jelect the odd number.
(A) 8314 (B) 27
(C) 1315 (D) 2518

1%
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69.

70.
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74.

75.

ot . i speoech
The charvactevistic ot 8 pood st
includ\-s o
¢\ Clear (1 Briet

() Interesting () Allof these

.\l(‘l:.\ 2} ll(‘l

(s ¢ HCOCH,
(© C.H.CHO (O ¢l en=cto
In the following quv\lmn some of l\ln
letters ave missing. The missing letters
are given in the proper sequence s one
of the alternatives given under question.
Find out the correct one.
_c_ca_ab_be_
(2\) abeac
(C) ccabb

C,H, + CHLCOCL
() C.H, CH,0

(B) babea
(D) beabb

In product life-cyele, under which stage
the product is accepted by consumer and
the traders ?
(&) Introduction
(C) Marturing

(B) Growth
(D) Saturation

‘A History of British India’ was publigshed
by

(A) Charles Dickens ‘ i

(B) Bala Gangadhar Tilak "

(C) Dadabhai Navaroji

(D) James Mill

In scheduling each task is
given CPU time according to the priority
assigned to that task.

(A) Priority (B) Round Robin
(C) Buffering (D) Spooling

The objectives of data base management

system consists of

(A) It provide for mass storage of
relevant data

(B) It makes access to the data easy for
the user %

(C) It makes the latest modifications to
the database available mlmedmtelv

(D) All of these '
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76, Dhanur lake veservoir of Haryana is often

called as 26, el A L e S ST

i STl el
(A) SAHEAT STelrer

\

)

(V) Chhamla veservoir
(1Y Ottu reservorr

(WY Divanwala reservorr

(1M None ot these

|

aﬂnnﬁ;myﬂ%%_bpmﬁ@ﬁa§ﬁr

=7 Alr Ram bought 40 books for Rs. L 120and | 77.
30 books for Rs. 608, The average price per 32 Elﬁi%ﬁ. % GOSH @A Ui T HAEq
1‘\\\1* ‘S =
\.\ Rs. 21 (l) Rs. 24 A) . 21 (B) % 924
(C) Rs. 27 (M Rs. 30 (©) % 27 (D) & 3
=, A market consists of all the potential |78, @WWWWWWW
customers showie @ particular need or gtﬁéﬂﬁamﬁﬂ’&m% :‘,WIJT-FZFHT'GTW
want who might be willing and able to fiafe ¥ feu ared > ﬁmmqg—gﬁw
engage in exchange to satisfy the need or B i) g T SRR Z AT
want”. This definition made by whom 7
Jio K ») fiefera ieeR
(\) Philip IKotler Ep)) 3
() William J. Stanton S i R
() American Marketing Association (© gﬁaqt@agaﬁg:[qliﬁ;i;” LIS
(I None of these (D) B
- SoE 3 SR =TT & TUH G
-q  \Who was the first Chief Justice of Punjab*” 79- 3N ; 3=
™ and Har o b & 7

and Haryvana High Court ?
(A) Justice Gopal Das Khosla
(B) Justice Ram Lal

() Justee Sudhi Ranjan Das
(D) Justiee Eric Weston

s0. Which communication flows from a 80.
N - ‘)

superior to 2 subordinate :

B) Downward

(A Upw ard
(m Vertical

(&) Horizontal

81. a—a'aumagﬁqa,gﬁzmn%

31 B:\hzldurgm'h tehsil is the part of %
di’:‘f!‘it‘f of H;‘u‘}‘ana. i . : o )
() Jhapar (B) Kaithal A) 2 :

(O) Kurukshetra (D) Ambala ©) @58}3 | D) J ‘;

§2. The pesentialofa contract of sale consists | 82, g & Efa f T :

(A) Two parties - (B) Geods anl 5 =
(D) All of these X

(C) Price
: -13-
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English Language

In the following question, out of the given
group ol words, choose the mis-spelt one.
(\) Simmer

(B3 Hammer

(C) Grammer

(D) Familiar

Identify the types/kinds of sentence in the
following sentences from the alternatives
given below them.

Be careful.

(A) Declarative sentence

(B) Imperative sentence

(C) Interrogative sentence

(D) Kxclamatory sentence

Read the following sentence to find ‘out
whether there is any error invit: The
error, if any, will be in one part of the
sentence. Mark of that part with error
as your answer.

Before the alarm had stopped/ringing/

A) : B)
Nisha had telephoned/the Police.
©) (D)

Fillin the blank in tﬁe following sentence
with suitable Modal Auxiliaries.
[ doit, whatever happens.
() can :

(B) will
(C) shall

(D) may

88.

89.

90.

e

112020 (3,

ot v

Fretferfiaa a1 -1 Wk arm s
(A) Tl TS ATl wiEer i gene)
(B) T Ard B 3Te 1 |

(C) Tl U T & S AT A 2y
(D) T § hrE 7
ST WIS TR  wEm
JaTE 2

(A) ITAATEH

(B) A==

(OREEEIEES

(D) FTH & g

FTo 1 AT ‘SR WieHeh e TR
I A o 7

(A) TTSarS =Y

(B) 3= fawarny

(C) AH L

(D) g

F-g urg Torelt | e A
qA

(A) M g

(B) -TH 4T

(OR SRLIN
(D) T & F 7
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